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N = 0l & At & Ml A
019EE £ 2 3 YLHEH SHT BIXADY ~ S A1
SN SER BINAY
HE: FoloE PF2Y
Sel: PP OIY, B2, SH AL CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
2 ¥IX D 18,044,406 17,967,696 76,710
2 30,910 30,910 0
= 22,000 0 22,000
Al 17,991,496 17,936,786 54,710
FOIOIE RF2Y 1,897,157 1,886,327 10,830
= 22,000 0 22,000
Al 1,875,157 1,886,327 A 11,170
23 0l8, 22, SH AT Ys 45,006 41,406 3,600
FYY Sl £3 19,710 16,110 3,600
201 Y2 bl 13,710 10,110 3,600
01 AR 22l 13,710 10,110 3,600
O )02 MX MX 18,0008 * 2005 3,600 0 3,600
AME 2T 91,914 63.314 28,600
< 22,000 0 22,000
Al 69,914 63.314 6,600
AW RESVUUY 54 16, 164 9,564 6.600
201 Y2 bl 16, 164 9,564 6.600
01 A2 22l 16, 164 9,564 6,600
OEHNYI ) 258U
22,0002 * 450CH 9,900 3,300 6,600
SUHHSAE B2(2X) 22,000 0 22,000
= 22,000 0 22,000
401 NEHIL 2 THYI 22,000 0 22,000
= 22,000 0 22,000
01 A&l 22,000 0 22,000
OIFS LUTY L0 STLY DHIBA
22,000,002 * 172 22,000 0 22,000
= 22,000 0 22,000
W BABY T4 759,958 781,328 ~21,370
WBE BA SH 362,264 383,634 ~21,370
401 NEHIL2THEI 109,942 131,312 ~21,370
01 Al bl 109,942 131,312 ~21,370
OFAM S& 24T AH(A=2,264m)
109,942, 00024 109,942 131,312 ~21,370
el 2 471,796 468,496 3,300
SIS U U AFZRRV R 471,796 468,496 3,300
e NSEY =X 223,586 220,286 3,300
206 T2 bl 9,250 5,950 3,300
01 THE bl 9,250 5,950 3,300
OFUMUAIL LAHIE 228 HA(E0HL)
6.600,000%! 6.600 3,300 3,300




2N BEHT HINAD
Ha: BHSYAH(EET HIXAD)

Sel: o2y (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Off &4 JEH Husz
YH2AAH (EET ZNAD) 15,675,453 15,612,873 62,580

2 30,910 30,910 0

Al 15,644,543 15,581,963 62,580

o122 gyl 15,161,253 15,098,673 62,580
= 30,910 30,910 0

Al 15,130,343 15,067,763 62,580

22| 413,250 350,670 62,580
204 MR=HAH| 413,250 350,670 62,580
PEEEEST 413,250 350,670 62,580
063 128,700,0002 128,700 122,760 5,940

o723 107,880,000 107,880 85,680 22,200
0892 121,800,0002 121,800 91,500 30,300
CEEEE 20,820 16,680 4,140

ogdd, =34 19,140,000& 19,140 15,000 4,140




N = 0l & At & Ml A

019EE £ 2 3 YBEH SHUT BIXADY ~ ST ASY
SN B Fo=X Y
o AY5D BIE LB 2T
SHPl: BOIGtD MEE woOI=XAL M3 CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
2 o= 5,272,484 5,062,751 209,733
= 43,000 35,000 8,000
Al 5,229,484 5,027,751 201,733
5D BIIE LMY B 1,343,447 1,308,777 14,670
= 43,000 35,000 8,000
Al 1,300,447 1,293,777 6,670
StD WS LOIGIIENAL KB 767,447 752,777 14,670
= 43,000 35,000 8,000
Al 724,447 7,777 6,670
2g UE R 547,244 547,674 £430
402 912t X 2 0 H 364,890 365,320 £430
01 QI2ERH2 AL & (RHH T2 ) 364,890 365,320 £430
0258 STIRYRY H24(UE 21228Y)
9,570,000% * 144 9,570 0 9,570
OLE ZEI2AF2Y HSH(HIAY TH,
Soisy) 0% 0 0,000 210,000
2 ME HEA(2X) 43,000 35,000 8,000
= 43,000 35,000 8,000
401 N EHIL 2T 33,000 25,000 8,000
< 33,000 25,000 8,000
01 Al bl 33,000 25,000 8,000
OLMIS OIYSTEY IS
8,000,000 * 142 8,000 0 8,000
< 8,000 0 8,000
J2Y FIIAA 2 el 177,203 170,103 7,100
402 212X+ 01 & 96,900 89,800 7,100
01 IR RHE A ZE (KA R ) 96,900 89,800 7,100
OBUS BREABRLY(AR) 2B 7,100 0 7,100
OWzD 1,500,008 = 1CH 1,500 0 1,500
Ol of 21 1,500,008 = 2CH 3,000 0 3,000
o1V 1,200,0008 * 2CH 2,400 0 2,400
OFEIIgE 200,008 = 1CH 200 0 200
2TY 23 L OSEX B 3,762,476 3,575,880 186,596
2 TR L BB 25 3,758,756 3,572, 160 186,596
201E OS24 X2 1,358,756 1,172,160 186,596
307 2120l 1,358,756 1,172,160 186,596
I NEEES 1,358,756 1,172,160 186,596
O2S0IS AAH X
6008 + 8,578 + 222 + 122 1,358,756 1,172,160 186,596
T2 IPH(SHT FUSD) 113,541 105,074 8,467
=Lt 113,541 105,074 8,467
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H: BHSYYH (SR FU=I D)
2

(==}
& 123l (chel & 9l)

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
JlE&l 113,541 105,074 8,467
201 ¢er24l 72,453 63,986 8,467
02 3324l 35,730 27,263 8,467
ORERS 33,330 24,863 8,467
Og et 300 * 2,3008 = 128 8,280 7,200 1,080
Os7l 2,1002 « 8008 = 12& 20,160 15,120 5,040
Ootts= 1,630& = 250 » 12 4,890 2,543 2,347




Al A

=

o,
=

Ol &b A

Al

L

<

n0

Kio

Hl w

8,000
8,000

8,000

2,000

2,000
2,000
2,000

6,000

6,000

97,093
34,266

13,800

2,000

2,000
2,000
2,000

5,800

5,800

Off &t 24

105,093
42,266

21,800

4,000

4,000
4,000
4,000

11,800

11,800

1o
=]
30

-

<]

ar
000

)

nO

ar
&0
R0
i
Ho

]
84

J

[l
Ho

ak

Ho

30
0K
1J
oll

o x 82X

o

500,000

01 AtR 2t 2l |

oy

N

w

ol

I

ol
=

off ol

S M

30
0
ol
all

6,000
6,000

5,400
5,400

11,400
11,400

1,900kg

o
2 *

6,000&

01 At 22l bl




Al A

o o

Ol &b A

=
=

Al

L

X0
Ki

R0
o)
3
H

0H
O
=
z W0
% (@)
R0 o)
i A<
_J_l ~
or A

0o 25

£
K

&0
oy
o
20
o)
&I
m

N~ N~ o (] o o o o N~ N~ N~ N~ N~
[aN) Al O (<o) [¢e] (<o) O (<o) (<o) © © (<o) ©
A B B Rl B B R
n0 RIS |&Q8(8 & &
Klo
E|
E=]
© N~ — — — — — o O (<) [e0) [e0] [e]
IF|8|FT|I8[8 88X |2|2|8 (& &
Slo | ~|ld || ~ N| | <
= GIR|S (D |28 2 = ||«
[e) -
R |
m
™ < — — — — — ™ ™ ™ Yo} Yo} L
(ep) N~ — [ — — — o (o] O ™ [ep) ™
S|l |- "o N|IN|[©w |0 0
N~ O N~ Yo < < < < < <
eIl & ||«
aor )
<
=
z g
8 x
ar Q 0
X0 D QY
] 3 M ”_
. L.Ano mw
a2 " M
m. 3l L =8
= 70 5 ] & )
£3 Kq %I = n 0
. - _ Tl = —
= % ] <+ m A | Ao mA:
= < o %0 o
ol =< N o = KO | < Ui
* Wilg|D = oW M m& ol
) K|S LV = Y i I ) =Y
[m) 0 n @A o = P20 |20 &
: || ok | |= B 3 RU|H M &
I mﬂ 4 B2 ® O a|w|w T K
R0 & | w | = | ol |m © w|a [V |~ O
0 — 0o | — |
0 N < 8 Y
X i M_UM Bl |2 o g | B
o+ K RO |
HlH = ]

ar
000




—
H = 0 AF AF S & Al A
20199 =& 2 3 B3 £ #F¥XNIAY ~ EER A=D1
2EA: EER HED
M PG JI2EE XM
FRl: JI2 . 20os |22 (=& &)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Hns2
SEY A4 15,000,984 12,398, 184 2,602,800
= 150,000 150,000 0
T 600,100 267,100 333,000
X 80,000 80,000 0
Al 14,170,884 11,901,084 2,269,800
Es It X4 3,014,302 2,994,302 20,000
= 150,000 150,000 0
Al 2,864,302 2,844,302 20,000
otz 2ots KA 3,014,302 2,994,302 20,000
= 150,000 150,000 0
Al 2,864,302 2,844,302 20,000
2EeE Ald L WX 422,880 402,880 20,000
401 Al HI L 201 Y| 422,880 402,880 20,000
01 Al Bl 420,000 400,000 20,000
OJZ - Bots AREX ¢ A
2,000,000& =* 9504 A~ 190,000 170,000 20,000
NAZYHLHERS STADIZH 9,696,022 7,164,022 2,532,000
T 600, 100 267,100 333,000
X 80,000 80,000 0
Al 9,015,922 6,816,922 2,199,000
S EZ12m0I 8t TAIHEEZ & 2,641,964 1,643,964 998,000
HIotS TAIHE 2 E 2 AH(A2-360/L=180m, B=8.0m 278,050 243,050 35,000
)
401 Al HI L 20 H| 278,050 243,050 35,000
1 Al Hl 276,300 241,300 35,000
OB 4&ty| 276,300,000& 276,300 241,300 35,000
L @52 TAHEEZZ MEZ2AH(A3-240/ L=120m, 423,000 400,000 23,000
B=6.0m)
401 Al HI L 201 Y| 423,000 400,000 23,000
01 A& bl 21,212 398,212 23,000
O 2 &ty| 421,212,000& 421,212 398,212 23,000
NS TAIHEZZIHE B AH(A1-405/L=300m, B=10m) 500,000 0 500,000
401 Al HI L 20 H| 500,000 0 500,000
1 Al& | 500,000 0 500,000
OB 4aty| 500,000, 000& 500,000 0 500,000
ANE TANHEZZ2HE Z2AH(A2-388 / L=90m, B=8.0 400,000 0 400,000
m)
401 Al HI L 201 Y] 400,000 0 400,000
01 A& bl 400,000 0 400,000
O L2 4&ty| 400,000,000& 400,000 0 400,000
22U 22 SAAHEZ2IH4A (A2-1343) L=125m(B=8) 20,000 0 20,000




Fo >3 0jo
JH 1 e

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
TAIEHI &R 20,000 0 20,000
01 A& HI 20,000 0 20,000
O & A& AHI 20,000,000& 20,000 0 20,000
U 23 SAHEZZ0E (L2-1344) L=125m(B=8) 20,000 0 20,000
401 A& HIZ 201 Y] 20,000 0 20,000
01 A& HI 20,000 0 20,000
O& A& AHHI 20,000,000& 20,000 0 20,000
c=zag 7,054,058 ,520,058 1,534,000
< 600, 100 267,100 333,000
e 80,000 80,000 0
Al 6,373,958 , 172,958 ,201,000
ZFH ¥ |FXNE* 4,533,460 ,072,460 1,461,000
= 350,100 77,100 273,000
e 80,000 80,000 0
Al 4,103,360 ,915,360 1,188,000
305 et =2 S 16,000 8,000 8,000
01 thHaf=8 16,000 8,000 8,000
OZ=ZAE M1 = 500,000& = 322 16,000 8,000 8,000
401 Al HI K 201 I 4,401,910 ,948,910 1,453,000
< 350,100 77,100 273,000
S 80,000 80,000 0
Al 3,971,810 , 791,810 1,180,000
01 A& HI 4,395,250 ,942,250 1,453,000
OE2RAE = 3,050,000 ,950,000 1,100,000
OOAZE AIE 400,000,000 400,000 300,000 100,000
OFQAUETZ 0t QM D]
1,000,000, 000& 1,000,000 0 1,000,000
O2EY LR HAIWIIXZ &S AHL=60m, B
=3.0m) 50,000,000& 50,000 0 50,000
OXYEZX & B4 XIS AH(L=70m, B=1.5m)
30,000,000& 30,000 0 30,000
otads MAZS OFMAlE HHIBAH(L=
230m, B=2.0m) 87,000,000& 87,000 87,000
< 87,000 87,000
02Ed g3 B SXAIE & X (L=250m)
52,000,000 52,000 50,000 2,000
< 52,000 50,000 2,000
O2dx =¥ BS2Et2]l X3 A(L=170m)
30,000,000& 30,000 30,000
< 30,000 30,000
OZM= 2 & U2 AAE EXE £X
25,000,000& 25,000 25,000
< 25,000 25,000
Odldts =FH3 =13m, B=3.0m)
9,000,000 9,000 0 9,000




2N
X ZH -
L= B

el

son ALY
NS FHLHB TADI P EA
Szl

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
< 9,000 0 9,000
OLMES 28-1HXl L2 T2 FH|IZAHL=275m,
B=4.0~6.0m) 30,000,000 30,000 30,000
(= 30,000 30,000
OEER U 2B I N AAE XA (2
£ L=280m, 2 M S L=216m) 70,000,000 70,000 70,000
(= 70,000 70,000
OEYR MES82 B2 A ALY (L=120m, B=4.
Om) 20,000,000 20,000 0 20,000
(= 20,000 0 20,000
FoI=2AAS 1,529,762 1,456,762 73,000
[ 250,000 190,000 60,000
Al 1,279,762 1,266,762 13,000
401 Al Y2 20| 1,529,762 1,456,762 73,000
[= 250,000 190,000 60,000
Al 1,279,762 1,266,762 13,000
01 Al&H| 1,525,478 1,452,478 73,000
OLGHZO0IE =¥ S =HIZAHL=110m, B=3.0
m) 47,000,000 47,000 40,000 7,000
OsYS 7€ S2FH L X2 EXSAH(L=6
00m, B=3.0m) 56,000,000 56,000 50,000 6,000
OHletE =202 T2 &2 AHL=100m, B=1.5
m~2.0m) 40,000,000 40,000 40,000
(= 40,000 40,000
OLN2E BS~LE2 =2 EEZ AH(L=600m,
B=4.0m) 20,000,000 20,000 0 20,000
[ 20,000 0 20,000
et - Mool MEzs 2s 1,019,427 1,013,627 5,800
SHEAIE A 907,777 901,977 5,800
& HH L |x2e 382,828 377,028 5,800
201 LBt A H| 29,438 23,638 5,800
01 AR 22| | 25,550 19,750 5,800
O%td =& 2 22 FH HH LB 15,950 10, 150 5,800
O= A 550,000% * 10§ » 11 6,050 3,850 2,200
ogzxt 450,0009 * 200 * 11 9,900 6,300 3,600
Sh=2el 874,970 829,970 45,000
St L Xigty 2522 874,970 829,970 45,000
Hi = Al EHH ¥ SX 22 817,880 772,880 45,000
401 AlIEHIZ 20 817,880 772,880 45,000
01 Al&H| 815,000 770,000 45,000
OAFRI2l 14-16 Hi2=2 FHI 2 AH(L=35m)
25,000,000 25,000 0 25,000
OANS 139-4 Gt4== HH| = AH(L=80m)
20,000,000 20,000 0 20,000




